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.~ 7 CURVE TABLES.

jJ (;g 3 /;« ST O Bt | | | 334 . : Published by KEUFFEL & ESSER CO.
D s o | | 1 HOW TO USE CURVE TABLES.
2 d 9 B Table I. contains Tangents and Externals to a 1° curve. Tan. and
8 . Ext. to any other radius may be found nearly enough, by dividing the Tan.
or Ext. opposite the given Central Angle by the given degree of curve.
To find Deg. of Curve, having the Central Angle and Tangent:
Divide Tan. opposite the given Central Angle by the given Tangent.
- To find Deg. of Curve, having the Central Angle and External:
Divide Ext. opposite the given Central Angle by the given External.
4 To find Nat. Tan. and Nat. Ex. Sec. for any angle by Table I.: Tan.
© or Ext. of twice the given angle divided by the radius of a 1° curve will
be the Nat. Tan. or Nat. Ex. Sec.

EXAMPLE.
Wanted a Curve with an Ext. of about 12 ft. Angle

of Intersection or I. P.=23° 20’ to the R. at Station
5424-72.

Ext. in Tab. I opposite 23° 20" =120.87
120.87 +12=10.07. Say a 10° Curve.
Tan. in Tab. I opp. 23° 20’=1183.1

1183.1+10=118.31.

Correction for A. 23° 20’ for a 10° Cur.=0.16
118.31+0.16 =118.47 =corrected Tangent.

| (If corrected Ext. is required find in same way)

‘ 5 ‘ ‘ Ang. 23° 20’ =23.33°+10=2.3333 = L. C.

It r.p # 23 "1 J | #.40 | 1 2° 192’ =def. for sta. 542 | 1. P.=sta. 542472

| 3 4°49%'= @ « ¢ +50 | Tan.= 1 .18.47

r# o4 | 2.7 L | ; 7019)'= ¢ « « 543 ‘ RS
v/ t ‘ | gPagie T« &7 pgnBaComata; 541-+53.53

110 40/2 & o« 5_13__{_ L. C.= 2 3333
86.86 ! E. C.=Sta. 543-1-86.86
100—53.53 =46.47 % 3/(def. for 1 ft. of 10° Cur.) =139.41"=
2° 194’ =def. for sta. 542.
Def. for 50 ft. =2° 30’ for a 10° Curve. '
Def. for 36.86 ft.=1° 503’ for a 10° Curve.
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10° Curve
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b
Right Triangle Oblique Triangles ———
Solution of Right Triangles

: o b a b 4
For Angle A. sin = —, cos= —, tan= B cot = —,sec = 7 Cosec = —

¢

| Required | :
| 4, B,c | tan. ——=cotB ¢ =q/a+ b = 1’1+ZZ—

Given
a,d

a, A, B, b

sind = —-—cosB,b=\/(c+a)(c~—a) =c.\/1—a—;-
@

sin 4.

B=90°—A4,0 =btan A, ¢= X
cos A,

B=90°—A,a =c¢sind,b=ccos A,
So!ution of Oblique Triangles
| Required | w3 iin O
500 b= S, :180°—(A+B>,c=a-”*—"4“
| sin sin 4
N b sin A A asin
sin B = = = 180°—(4 + B), ¢ = o
(a—>b)tan j (A+4B)

a + b 4

A B, a

B, a

]

|
430
4, ’B, bl B=00P—A b =ageptd om

|
\

=

|

| |

A,

| B, ¢, C

4, B,c | A4+B=180°—0, tan }(A— -B)=

|
|
i
|
\
[ _asinC

R ek L 0
-t

=180°—(A+B)

b,

4, b,
A, ])), C, a| Area

cv.i al 'qunr'“f-»_)]ape dht ance multiplied by the
of the vertic nl,m:,l» lh\h :1{)'»\’(]"\ ance =319.4 ft.
Fr X, r‘os 59 10/=
- ——315}.4’A".U 318.09 f
S0 —\Jope distance mxr’us slope
—cosine of vertical angle). With the
: i as in tlm precedi example, the follow=
Horizontal distance Rl Cosine 5 -9959. 1—.9950=.0041,

When the rise is known, the horizontal distance is ar i¥: :—the slope dist-
ance less the square of the rise divided by twice the slo 8 Thus: rise=14 ft.,

slope distance=302.6 ft. Horizontal distance=202.6— - -=302.6—0.32=302.28 ft.

MADE IN U, S: A,




